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M. Com. EXAMINATION
(For Batch 2017 & Onwards)
(Second Semester)
FINANCIAL MANAGEMENT
MC-202

Time : Three Hours Maximum Marks : 70

Note : Attempt Five questions in all, selecting one
question from each Unit in addition to
compulsory Q. No. 1. All questions carry
equal marks.

1. Explain the following :
(i) Time Value of Money
(i) Nature of Capital Budgeting
(iii) Optimum Capital Structure
(iv) Public Deposits
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(v) Operating cycle concept of Working
Capital
(vi) Economic Order Quantity

(vii) Corporate Restructuring.

Unit I

“Profit maximisation is a pre-requisite for
shareholders' wealth maximized.” Do you
agree ? Give an account of the advantages and

disadvantages of these goals.

Describe the decision-tree approach to capital
budgeting. Examine the suitability of this
approach.

Unit II

Excel Industries Ltd. has assets of Rs. 1,60,000
which have been financed with Rs. 52,000 of
debt and Rs. 90,000 of equity and a general
reserve of Rs. 18,000. The firm's total profits

after interest and taxes for the year ended 31st
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March, 1998, were Rs. 13,500. It pays 8%
interest on borrowed funds and is in the 50%
tax bracket. It has 900 equity shares of Rs.
100 each selling at a market price of Rs. 120
per share. What is the weighted average cost
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of capital ?

Explain with suitable example the arbitrage
process of MM Approach of capital structure

to achieve the equilibrium level.

Unit III

State the significance of working capital for a
manufacturing firm. What will be the
consequences of excess and shortage of

working capital ?

“Efficient cash management will aim at
maximizing the availability of cash inflows by
decentralising collections and decelerating cash
outflows by centralising the disbursements.”

Discuss and explain.
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Unit IV

What are the factors affecting the share
exchange ratio ? What is the effect of long-
fun view of the carnings of the target firm ?

ABC Ltd. was started a year back with a paid-

up equity capital of Rs. 40,00,000. The other
details are as under -

Earnings of the company Rs. 4,00,000
Dividend paid Rs. 3,20,000
Price-earning ratio 12.5
Number of shares 40,000

You are required to find out whether the
company's dividend pay out ratio is optimal,
using Walter's formula.

(Hindi Version)
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